Saddlebag support
HIGHWAY HAWIK  Honda VT600/VLX 600

[ A _/; w ’J//'!":/ff'/"f&
petssdons or ST Art.no. 661-024

Components
1 |Saddlebag Support  |2x
2 |Bolt M6 x 20 2X
3 |Bush @15 x 8mm 2X
4 |Bush M6 x 20 2X
5|Bolt M6 x 40 2X
6 | Washer M6 2X
7 |Locknut M6 2X
8 |Bush @10 x 20mm 2X

Please check all fixings and mounting points @®© Motorrad Burchard GmbH advises installation by a professional mechanic. © Motorrad Burchard GmbH

before assembly as listed on the mounting instrucion sheet. We do not accept responsibility for improper installation. Lem go - Germany




